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UNIVERSITY OF NORTH BENGAL 
B.A. Honours 5th Semester Examination, 2021  

DSE-P1-NEPALI 
Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 

 The question paper contains DSE-1A and DSE-1B. 
The candidates are required to answer any one from two Courses. 

Candidates should mention it clearly on the Answer Book. 

 DSE-1A 

 usikyh Hkk’kk lkfgR;ek pysdk izeq[k vkUnksyu j okng: 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~A 3×4 = 12

(d) vk;kfed vkUnksyu dfgys j dgk¡ckV lq# Hk,dks fFk;ks \ ;ldk iz.ksrkg:dks uke 
ys[uqgksl~A 

([k) jkeef.k vk- nh- ys dqu vkUnksyu pyk,dk fFk, \ ;l vkUnksyudks eq[; ekU;rk ds 
fFk;ks \ 

 

(x) >jksZoknh vkUnksyu-dk izeq[k ekU;rk ds ds gqu~ \  

(?k) jkYQkyh vkUnksyudks ?kks’k.kk dqu if=dkek izdkf”kr Hk,dks fFk;ks \ ;l vkUnksyuys 
dLrks n”kZu izLrqr xÚ;ks \ 

 

(³) *ukSyks ikbyk* if=dkdks ds egÙo N \  

(p) l³~Øe.k ys[ku dgk¡ckV vfu dqu mn~ns”;ys lq# Hk,dks fFk;ks \  
   
2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~A 6×4 = 24

(d) yhyk ys[kudk ekU;rkA 
([k) rjyoknh vkUnksyuA  

(x) usikyh lkfgR;ek vk;kfed vkUnksyudks egÙo j izkfIrA  

(?k) l³~Øe.k ys[ku j usikyh dforkA  

(³) gyUr ofg’dkj vkUnksyudks egÙoA  

(p) izxfroknh usikyh lkfgR;A  
   
3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~A 12×2 = 24

(d) >jksZoknh vkUnksyu-dks vko”;drkekfFk fVIi.kh xnSZ ;ldk ekU;rk j lhekckjs 
leh{kkRed ys[k ys[uqgksl~A 
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([k) usikyh lkfgR;ek vk;kfed vkUnksyuys izfriknu xjsdk lS)kfUrd ekU;rkg:ckjs ,mVk 
ys[k ys[uqgksl~A 

 

(x) jkYQkyh vkUnksyudk fo”ks’krk] egÙo j izHkkockjs leh{kkRed fVIi.kh ys[uqgksl~A  

(?k) gyUr ofg’dkj vkUnksyudk egÙo j fo”ks’krkckjs ppkZ xuZqgksl~A  
  

 vFkok  

 DSE-1B 

 lokbZ j ygjh dkO; 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~A 3×4 = 12

(d) *ygjh dkO;* HkUukys ds cqf>UN \ usikyh lkfgR;ek ;ldks vkjEHk dlys xjsdk gqu~ \ 
([k) lokbZ lkfgR;ek *HkksVdks lokbZ*-dks ds egÙo N \  

(x) HkkjrckV izdkf”kr ifgyks lokbZ j ygjh dkO; dqu dqu gqu~ \ jpf;rkdk ukm¡ ifu 
ys[uqgksl~A 

 

(?k) *vkNkedks lokbZ*-dks ,sfrgkfld egÙo ds N \  

(³) lokbZ dkO;dk vfHky{k.k ys[uqgksl~A  

(p) ukxkfgYldks lokbZ dldks vkS dqu lkyek izdkf”kr Hk,dks fFk;ks \  
   
2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~A 6×4 = 24

(d) *ygjh* j *lokbZ* lkfgR;dks i’̀BHkwfeA 
([k) *nktZfy³~edks iSjkdks lokbZ*ek ikbus lkekftd j HkkSxksfyd fp=.kA  

(x) vuUnygjhdks lkfgfR;d egÙoA  

(?k) *ukxkfgYldks lokbZ*-dks ewy fo’k;A  

(³) lokbZ lkfgR;dks ,sfrgkfld egÙoA  

(p) *HkksVdks lokbZ*-dks oLrq j “kSyhA  
   
3. rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~A 12×2 = 24

(d) lokbZ dkO;dks bfrgklek Mkdeku jkbZykbZ fpukm¡nS mudks *nktZfy³dk iSjkdks lokbZ* 
dkO;dks ewy Hkko ys[uqgksl~A 

([k) Kkufny nkldks ifjp; fn¡nS mudks *mn; ygjh*-dks lkaLÑfrd j lkekftd egÙockjs 
ys[uqgksl~A 

 

(x) lokbZ j ygjh lkfgR;dks i’̀BHkwfe j egÙockjs ppkZ xuZqgksl~A  

(?k) fnyqflag jkbZdks ifjp; ys[nS mudks *fo l १९५६  lkydks iSgksdks lokbZ* dkO;dks 
lkfgfR;d j ,sfrgkfld egÙockjs ys[uqgksl~A 
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